~ MoLE CoNVERsSiON MAZE WORKSHEET ~

Read the question in START block and choose the path to the next question by choosing the correct answer. Color the questions and
answers of your path as you move from START to FINISH.
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What is the molar
mass of NaOH?

N

p

38.99 g/mol

24.00 g/mol

40.00
g/mol
31.02
g/mol

What is the molar
mass of CaCl,?

82.91 g/mol

47.46 g/mol
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What is the molar
mass of Na,O?

38.99 g/mol

61.98 g/mol

24.08 g/mol 233.99 g/mol
What is the molar What is the molar What is the molar
mass of H,0? mass of Al,(CO,),? mass of BaSO,?
18.02 g/mol 200.96 g/mol
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40.02 g/mol 33.04 g/mol
What is the molar What is the molar What is the molar
mass of (NH,),S? mass of CO,? mass of HNO,?
68.17 g/mol 27.03 g/mol
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101.47 g/mol 83.49 g/mol
What is the molar What is the molar FINISH
mass of Be(ClO,),? mass of CCl,?
92.46 g/mol 153.81 g/mol
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START
What is the molar
mass of NaOH?

oo| |n©o
Qg Qe
o —
T O [sa @)

What is the molar
mass of CaCl,?

75.53
g/mol
110.98
g/mol

What is the molar
mass of Na,O?

What is the molar
mass of Al(CO,),?

233.99 g/mol

200.96 g/mol

44,01
g/mol
86.99
g/mol

What is the molar
mass of CO,?

What is the molar
mass of BaSO,?

233.40
g/mol
62.01
g/mol

28.01
g/mol
47.46
g/mol

Answers
38.99 g/mol 24.08 g/mol
What is the molar
mass of H,0?
24.00 g/mol 18.02 g/mol
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82.91 g/mol 40.02 g/mol
What is the molar
mass of (NH,),S?
47.46 g/mol 68.17 g/mol
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38.99 g/mol 101.47 g/mol
What is the molar
mass of Be(ClO,),?
61.98 g/mol 92.46 g/mol

What is the molar
mass of CCl,?

33.04 g/mol
What is the molar
mass of HNO,?

27.03 g/mol
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83.49 g/mol

FINISH

153.81 g/mol




